AT

AUTOGRIP MACHINERY

SU

VENNBEENFE
MEFEEH | 3M

- WML - SFERSEHAMITRE - ol REEESF -

* VEIUKSLO[ENN THMEERGFSHOET - fLEADFARMNBESEER - 5K
PRSBSOS -

'E%I'EEEEH:%IEE’\JZMZE—%FFEEJE?MM@ - FEIHABE - BRESXISBESWRHE - E581)
i -

* 5B FEERASHITIML -

* SEH(EER) -

AR

MTR(ER)

BA X BE

=/ Xk BE BRAXFN-5K RAKFN-HE BRAFEREN-SE RAFEREAD-HE RIEERESD ESHHEE
(mm) (mm) (33129)) kN (kgf) kN (kgf) MPa(kgf/cm?) MPa(kgf/cm?) kgf/cm? lit.(EFE £16.0 kgf/cm?)
SU-303 2 42 4 5.2(530) 12.8(1305) 0.6(6) 1.3(13) 2 0.16 5.7
SU-304 3 60 6.7(683) 16.0(1632) 0.6(6) 1.3(13) 2 0.26 7.4
SU-306 5 105 31 18.5(1886) 40.0(4079) 0.6(6) 1.3(13) 2 0.58 18
SU-308 5 132 32 37.0(3773) 80.0(8158) 0.6(6) 1.3(13) 2 1.02 315
SU-310 5 163 44 46.2(4710) 100.0(10100) 0.6(6) 1.3(13) 2 2.11 53
~F
B W
; = ¢ - oK @K
=T T A | w
‘ ¥ X {E;. ” ":.d\‘& / p 27 y " g
T i L LD SATR e = ANy |
G min. : == N ﬁ/ 3-\ f @ g b
ey 8 N S 7R N\ s
i | i /I L | ) A8 | TR
é o 8% o Gl 5 & H— e ‘ N 6D e I ,_,
L8 2% S| ARY \ E@"l . (B c;@«:
125 &=t o~ / ) ‘\‘3\" - i - f‘ _ Rk
-~ Qi) (3 AT\ y - i SR S8
| 1 g~ 4905, ':",;?’ @MEES
1 ! i } @!::"‘: . = 11 T
L e Pl '/l L1 ' F’H ﬁﬂ
B B8 B "
FL 2 2~-rC1/4" MBEAREA Ny T\
. Vl ‘
e rRole BEmEBEA, /| - B . SU-303
L B1 05 70 12 g (BEAEFV-01)
SU-304,306,308,310
(R B IS IE B AH
IR e N T e S E Y
SU-303 122 85 80.5 68 104 28 22 12 35 66 M3 3~9 5 1 12 30 7 35 25 36 15 63 98 M5 4~M8x1.25 46 3~M5x10
SU-304 148 110 101.5 835 130 32 24 15 45 84 M5 4~9 7 1 17 40 9.5 275 125 42 20 75.5 110.5 M6 6~M8x1.25 62 6~M5x10
SU-306 206 168 136.5 104 188 35 25 18 6 129 M5 411 15 5 30 50 17 15.75 13.25 49 30 104.5 1395 M10 6~M10x1.5 72 6~M6x12
SU-308 248 210 152 15 230 55 45 18 7 156 M6 411 17 7 34 63 20.5 16.25 13.75 71 35 125.5 160.5 M12 6~M10x1.5 95 6~M6x12
SU-310 300 254 181 131 280 65 53 20 7 187 M8 4~13 9 -1 39 74 23 20.75 18.25 85 40 147.5 182.5 M14 6~M12x1.75 15 6~M6x12

WWW.AUTOGRIP-MACHINERY.COM AUTOGRRIP


https://www.autogrip-machinery.com/proimages/products/Stationary-Chucks/Pull-Lock/SU_img.jpg

